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Q.1 If amirroris placed on the line AB, then which of the answer figures is the right
image of the given figure?
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Q.2 Inthefollowing question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
|I.Some B areE.

Il. Some E are G.
Ill.No Eis F.
Conclusions:
|.Some B arenot F.
Il. Some G are not F.
Ill. Some F are not B.

Ans X A All conclusion follows
/X B.Both conclusion Il and Il follows

X C.Both conclusion | and Il follows

o D. Both conclusion | and Il follow

Question ID : 1034355070

Q.3 Inthe following question, select the odd figure from the given alternatives.
Ans

/A
0)

Question ID : 1034355077
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Q.4 Sachinis facing towards the west. He rotates 80 degree in the clockwise direction.
Herotates 140 degree in the anticlockwise direction. He rotates 270 degree in the
anticlockwise direction. He rotates 45 degree in the clockwise direction. Which of
the following statement is correct?

I. If he finallyrotates 15 degree in the clockwise direction, then he will face towards
the north.

Il. If he finally rotates 85 degree in the anticlockwise direction, then he will face
towards the south-west.

Ans X A Neither | nor Il
X B.Onlyll
«” C.Baoth | and
X D.only|

Question ID : 1034355076

Q.5 Aseriesis given with one term missing. Select the correct alternative from the
given ones that will complete the series.
LT121,PP169, TL289, XH361, BD529, ?

Ans X A EZ625
« B.FZ84
X C.FZ625
X D.FAB41

Question ID : 1034355061

Q.6 Aseries is given with one term wrong. Select that wrong term from the given
alternatives.
2,3,6,18,108, 1844

Ans X A 20
¥ B.1844
XcCe
X D108

Question ID : 1034355071
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Q.7 Select the option that is related to the third figure in the same way as the second
figure is related to the first figure.

18710888 | -

(88

(28
(38

Question ID : 1034355079

Q.8 Inthefollowing question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I.AlIDareT.

Il. No Dis N.
Conclusions:
|.Some N arenot T.
Il. Some T are not N.

Ans X A Both conclusion | and Il follows
X B. Neither conclusion follows
' 4 nl

/% D. Only conclusion | follows

Question ID : 1034355069
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Q.9 Ateam of seven members is to be selected among five boys B1, B2, B3, B4 and B5
and five girls G1,G2, G3, G4 and G5. Either G1 or B4 has to be selected with G3. B2
and G3 have to be selected together. G4 and B3 cannot be selected together.
Neither B4 nor B5 can be selected with G4. Neither BS nor G5 can be selected with

B1. Which of the following members can be selected?
Ans X A.B1,B2 B3 B4,G2 G3 G5

/X B.B2 B3, B4,B5,G1, G2, G3
X C.B1,B2, B3, B4, G3, G4, G5

 D.B2, B3, B4, B5, G2, G3, G5

Q.10 Inthe following question, select the odd group of numbers from the given
alternatives.

Ans X A (72, 144, 432)
X B. (43, 86, 258)
o C. (68,144, 408
X D.(23, 46, 138)

Q.11 Aseries is given with one term wrong. Select that wrong term from the given

alternatives.
NF, QI, TL, WP, ZR, CU

Ans 7 A WP
X B.ZR
& E.ey
X DTL

Q.12 How many dogs are both cats and cows?

49 — Cat
',"'\
54 |61 48 Dog
50
Cow— °1
Ans X A 111
X B.48
X C.183
o .61
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Q.13 Inthe following question, select the related words from the given alternatives.
Convict : Prison :: Soldier : ?

Ans o A Barrack
X B.Asylum
X C. Stable
X D. Palace

Question ID : 1034355063

Q.14 Agirl walks 5 km towards the east. She turns to the right and walks 4 km. She again
turns to the right and walks 8 km. How far is she now from the starting point?

Ans X A 10km
& B.5km
X C.3km
X D.8km

Question ID : 1034355075

Q.15 Based on the given venn diagram, which of the following statement(s) is/are
correct?
I. Total number of elephant is 183.
Il. The number of horses who are neither rat nor elephant is 52.

Horse E! Elephant

Rat

Ans X A QOnlyl

o B. Both | and/ll
X C.Onlyll
< D. Neither I nor |l

Question ID : 1034355074

Q.16 Sixwomen W1, W2, W3, W4, W5 and W6 are of different ages. The age of W5 is more
thanthe age of W2.The age of W3 is less than the age of W2. The age of only one
woman is more than the age of W4. The age of W3 is not the least. The age of W1is
more than the age of W5. Who is the third oldest?

Ans X A W2
X B.W6
¥ C.W5
X D.W3

Question ID : 1034355066
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Q.17 Seven persons P, Q,R, S, T, Uand V sit around a circular table facing towards the
centre (not necessarily in the same order). T sits third to the right of R. V sits third
to the right of Q. One person sits between P and T. P is not a neighbour of S. Usits
third to the left of P. Who sits second to the left of S?

Ans X AP
VBV
X CQ

X D.R

Question ID : 1034355067

Q.18 Inthe following question, a group of letters is given. The letters of each group are
related with the letters of the same group by some Logic/Rule/Relation. From the
given alternatives, select a group of letters which follows the same
Logic/Rule/Relation.

(SF,NB, IX)

Ans ¢ A (LG, GC, BY)
X B.(VWY,QU, LR)
X C.(MT, HP CJ)
X D.(CU, WQ, SM)

Question ID : 1034355064

Q.19 Inthe following question, select the odd word from the given alternatives.
Ans X A Horse

X B.Deer

2 C. Elephant

«” D. Fox

Question ID : 1034355062

Q.20 In acertain code language, ‘You are good’ is writtenas ‘@ $ #', 'Good boys like you'
iswrittenas ‘& *@ #', 'l and you go’ is written as ‘© < + @". What is the code for
‘boys are like’ in that code language?

Ans o A T&S
XB&s@
X Csa#
XD*$+

Question ID : 1034355065
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Q.1 Thereare _____
constitution of India.

Ans o A 611

fundamental rights and fundamental duties in the

X B.6,9
X C.
X D711

w

Question ID : 1034355096

Q.2 Which of the following statement is NOT correct?
I. Outsourcing is one of the important outcomes of the globalization.
Il. The WTO was founded in 1995 as the successor organisation to the GATT.

Ans X A Onlyll
< B.Only|
X C.Bothland Il

 D. Neithe

Question ID: 1034355083

Q.3 Which of the following statement is correct?
I. Precipitation reactions produce insoluble salts.
Il. Oxidation is the gain of oxygen or loss of hydrogen.

Ans X A Onlyll
X B. Neither I nor ||
X C.Only!|
«" D.Bothland |

Question ID : 1034355086

Q.4 Theinterest rate at which the Reverse Bank absorbs liquidity, on an overnight basis,
from banks against the collateral of eligible government securities under the LAF is
called

Ans X A Marginal standing facility
X B.Bankrate
X C.Repo rate

o D. Reverse repo rate

Question ID : 1034355082

Q.5 If the weight of an object onthe moonis 60 N, then what will be the weight of that
object on the surface of earth?

Ans & A 360N
/A B.10N
X C.15N
/< D.300N

Question ID : 1034355085
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Q.6 Vertebrates are groupedinto ______ classes.
Ans X A3

X B4

A C2

& D6

Question ID : 1034355084

Q.7 Who among the following person has been awarded Nobel prize 2020 for medicine?
Ans X A Roger Penrose

X B. Andrea M. Ghez
X C. Jennifer A. Doudna

«” D. Michael Houhgton

Question ID : 1034355095

Q.8 The Buddha attained enlightenment at
Ans X A. Kusinara

X B.Sarnath
X C. Pawapuri

# D. Bodh Ca
V_, D oC oayd

Question ID : 1034355090

Q.9 Which pair of provision in Indian constitution - Source is correct?
I. Amendments of constitution - constitution of South Africa.
Il. Emergency power of president - constitution of Germany.

Ans o A Bothland |l
X B.Onlyl
X C. Neither I nor Il
X D.Onlyll

Question ID : 1034355097

Q.10 Manpreet Singh is associated with which sports?
Ans X A Cricket

X B. Football
X C. Volleyball

V? D. Hockey

Question ID : 1034355098
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Q.11 Who among the following was the India’s flag bearer at opening ceremony of Tokyo
Olympics 2020 (played in 2021)?

Ans X A Monika Batra
& B. Mary Kom
X C. Mira Bai Chanu

/X D.Bajrang Punia

Question ID : 1034355099

Q.12 Which organisation has launched a new technique “SWASTIIK” to disinfect water by
using natural oils?

Ans X A Sl
X B. Mylab
«” C.CSIR - NCl
X D.AIIMS

Question ID : 1034355093

Q.13 Largest salt water lake of India is situated in which state?
Ans ¢ A Odisha

X B. WestBengal

X C.Karnataka

X D. Rajasthan

Question ID : 1034355087

Q.14 In which year Tipu Sultan became the ruler of Mysore?
Ans X A.1792

v B.1782

X G772

/X D.1762

Question ID : 1034355091

Q.15 Which of the following statement is correct?
I. All India Muslim League supported the partition of Bengal.
Il. Lala Lajpat Rai was an active member of the Arya Samaj.

Ans ¢ A Both land |l
X B.Only Il
X C. Neither I nor Il
X D.Onlyl

Question ID : 1034355092
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Q.16 Which of the following is an important social indicator to measure the extent of
equality between males and females in a society at a given time?

Ans 7 A Sexratio
/X B. Literacy
X C. Migration
X D. Health

Question ID : 1034355088

Q.17 Who is the author of book “Unhappy India"?
Ans X A Maulana Abul Kalam Azad

X B. Veer Savarkar
X C.Mahatma Gandhi

” D. Lala Lajpat Ral

Question ID : 1034355094

Q.18 Which of the following statement is NOT correct?
I. Generally, the warm ocean currents originate near the equator and move towards

the poles.
Il. Gulf stream is a cold current.

Ans X A. Onlyl
o B.Onlyll
X C. Neither I nor Il

X D.Bothlandll

Question ID : 1034355089

Q.19 Which pair of festival - state is NOT correct?
Ans X A Onam - Kerala

/X B.Wangala - Meghalaya
/< C.Bumchu - Sikkim
o’ D. Saganawa - Assan

Question ID : 1034355081

Q.20 Golconda Fort is situated in which state of India?
Ans X A Karnataka

X B. Tamil Nadu

 C.Telangana
X D.Rajasthan

Question ID : 1034355080
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Q.1 The average of 34 numbers is 53. If we subtract a number ‘L' from each number, then
the average becomes 35. What is the value of L?

Ans X A 15
X B.17
X619
o D.18

Question ID : 1034355105

Q.2 Aprincipal of Rs. 20000 is invested at simple interest for 6 years. If the per annum
rate of interest is 10 percent, then what will be the amount after 6 years?

Ans X A Rs. 28000
X B.Rs. 24000

« C.Rs. 32000
X D.Rs. 40000

Question ID : 1034355111

8- What is the digit at the unit place §8°° . §6= - 8933 ?
Ans o A6
X B2
XC4
X D5
Question ID : 1034355104
Q.4 1

1 1 1
WhatisthevalueofJ§+VG+\/I+J§+\;‘?+JE+\[6+\/?7
M XA 5T
X6 Jo-s
L6 T3
X055

Question ID : 1034355102
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Q.5 The line chart given below shows the number of students playing different games in
two schools.

60
LN e
60 T\
L
/50 \ \
\\ Y
40 \
\
\ .
10
e ..
25

Gl Gl G3 G4 G5 Go

——School S1  —#-School S2

Which of the following statement is correct?

I. The average of number of students playing G1in S1 and S2is 50.

II. The ratio of number of students playing G3 in S1 to the number of students
playing G3inS2are2:1.

Ans X A Only|

 B.Both land Il
25 C. Neither I nor Il
X D.Onlyll

Question ID : 1034355119

Q.6 Rahulgoes at a speed of 60 m/s. How many minutes will he take to cover a distance
of 4200 metres?

Ans X A 5/4 minutes
b 7/6 minutes
X C.4/3 minutes

X D. 5/3 minutes

Question ID: 1034355112

Q.7 Ashopkeeper sells a table at aloss of 50 percent. Had he sold the table for Rs. 120
more, then he would have suffered a loss of 30 percent. To earn a profit of 40
percent, what should be the selling price of the table?

Ans o A Rs. 840
/X B.Rs. 750
X C.Rs.720
X D.Rs. 800

Question ID : 1034355108

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Q.8 Sum of length and breadth of a cuboid is 70 cm. Height of cuboid is 15 cm. If height
is half of the breadth, then what is the total surface of this cuboid?

Ans X A 6000 cm?
X B. 5400 cm?
y‘ C. 4500 cm~
X D. 4800 cm?

Question ID : 1034355116

Q.9 Circumference of a circle is 220 cm. What is the area of this circle?

Ans X A 1925cm?

X C.5775cm?

X D 7700 cm?
Question ID : 1034355115

Q.10 The bar graph given below shows the number of working days of a companyin 5
different years.

300

200

100

Y3 Y4 XS

What is the average of number of working days in all years?
Ans X A 340

¢ B. 240
X C.320

X D.360
Question ID : 1034355118

Q.11 What is thevalueof 98 + 4x2+ 5-6x2?
Ans X A 54

‘i 7 12
X C.36
X D.12

Question ID : 1034355100
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Q.12 If P=25X and Q = 20X, then P is how much percentage more than Q?
Ans X A 10 percent

X B. 35 percent
X C. 40 percent

o U. 25 percent

Question ID : 1034355106

Q.13 What number should be added to each of 8, 35,7 and 31 so that the resulting
numbers will be in proportion?

Ans X A2
/X B3
X C5
L

Question ID : 1034355109

Q.14 Aboat covers a distance of 2 km upstream and 4 km downstream in 120 minutes. It
covers a distance of 4 km upstream and 6 km downstream in 210 minutes. What is
speed of the boat in still water?

Ans X A1
B
X C.2
X D4

Question ID : 1034355113

Q.15 Aand B enter into a partnership and invested Rs. 4000 and Rs. 5000 respectively in
the business. After 4 months, Z also joins the business with an investment of Rs.
8000. After one year, they earn a the profit of Rs. 3655. What is the profit share of
B?

Ans X A Rs. 1516

\;7 R Re ’li,
/X C.Rs. 1165

X D.Rs. 1360

Question ID: 1034355110

Q.16 If a number 9257Y is exactly divisible by 8, then what is the value of Y?
Ans X A5

X B.4
X C.2

2 / U, B

Question ID ; 1034355101
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Q.17 The pie chart given below shows the demand of 8 different articles. Total demand
of all 8 articles is 36000. Demand of a particular article is shown in terms of degree
with respect to the total demand of all these 8 articles.

A8
20°___

7

2 m/
1§°

J1=The average of demand of articles A2, A3, A4 and A8.
J2 =The difference between demand of articles A7 and A1.
What is the value of (J1 - J2)?

Ans X A 3350
X B.3250
X C.4550
& D. 3550

Question ID : 1034355117

Q.18 Which of the following statement is correct?

I. The square root of 5+2J6_ is ‘ﬁ_*'\/g ;
1. 1f \’15+4~j1_4=\/_\_;+,\/\7,thenx+y=15andxy=50.

Ans X A Neither | nor |l
o B.Cnly
X C.Bothland Il

X D.Onlyll
Question ID : 1034355103

Q.19 84 litre mixture of milk and water contains 30 percent milk. How much more milk
must be added to make water percentage in the mixture as 60 percent?

Ans X A 15litres

/X B. 10 litres
o C. 14 litres
< D.12.5 litres

Question ID : 1034355107
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Q.20 Aand B can complete a work in 5 days and 20 days respectively. They work on
alternate days one at a time and A works on the first day. In how many days the
whole work will be completed?

Ans X A 12days
 B.8days
/X C.7days

X D.10 days

Question ID : 1034355114

Q.1 Choose the word that means the same as the given word.
Abuse

Ans X A.Oppression
X B.Omen

« C Aspersion
< D. Ablution

Question ID : 1034355128

Q.2 Inthe following question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
Give loosereinto

Ans X A Giving the largest share of something
X B.Tolieabout something
/X C. Avoiding someone frequently

o’ D. To give cne complete freedom

Question 1D : 1034355133

Q.3 Find the part of the given sentence that has anerror init. If there is no error,
choose ‘No error’.
One of the most graphic (1)/demonstrations were the (2)/ 2008 financial crisis
(3)/.No error (4)

Ans X A1
v B2
Nes

X D4

Question ID : 1034355121
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Q.4 Asentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
The list of products

Ans X A are
& B.is
X C.have

lying on the table.

X D. were

Question ID : 1034355125

Q.5 Findthe part of the given sentence that has an errorinit. If there is no error,

choose ‘No error’.
They climbed above(1)/the hill to see (2)/the mesmerizing view (3)/.No error (4)

Ans X A3
V8.
Xc2
X D4

Question ID : 1034355120

Q.6 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select 'No improvement’as your

answer.
Me and my friends are going for shopping.

Ans « A. My friends and |

/& B.land my friends
25 C.Noimprovement

/X D. My friends and me

Question ID : 1034355122

Q.7 Choose the word that is opposite in meaning to the given word.
Debauch

Ans o A Elevate
X B.Taint
X C. Evolve

X D. Vital

Question ID : 1034355129

Q.8 Choose the word that can substitute the given sentence.
One who does not care for art and literature

Ans o A Philistine
X B. Curator
2 C. Misanthrope
X D.Snob

Question ID : 1034355134
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Q.9 Inthefollowing question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
Green eyed

Ans X A Ararething
” B. Jealol
/X C.Tofeel angry

X D. An animal that has green eyes

Question ID : 1034355132

Q.10 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans & A Mirrored
< B. Mirored
X C. Mirrorred

X D. Mirorred

Question ID : 1034355130

Q.11 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans ¢ A Masseuse
X B Masseusse
X C. Masuese

X D. Maseuess

Question ID : 1034355131

Q.12 Rearrange the parts of the sentence in correct order.
P: Skillful speakers get at the outset a number of 'yes'responses.
Q: They thereby steer their listeners towards an affirmative direction.
S:It is like the movements of a billiard ball.
R: Propel it in one direction and it takes some force to deflect it.

Ans o A PQSR
X B.SRPQ
X C.PQRS
X D.PRQS

Question ID : 1034355127

Q.13 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your

answer.
He would has seized on a of fer which was given to him.

Ans o A would have seized upon the
X B.would has seized upon the
/X C.Noimprovement

X D. will has seized upon a

Question ID : 1034355123
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Q.14 A sentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
It was a debate between political parties.

Ans X A consent
X B.roast

o C. fierce
X D.sinless

Question ID : 1034355124

Q.15 Rearrange the parts of the sentence in correct order.
All of this musical activity
P:Onthe west of our country
Q:Took placein a little known port
R: Where my father taught English
S:To the young princes

Ans ¢ A QPRS
X B.QRSP
X C.QRPS
X D.RPSQ

Question ID : 1034355126

Comprehension:

Read the following information carefully and answer the given questions.

Once again, Finland has ranked first in the UN's 2020 World Happiness Report, and, as
always, it will have come as a surprise to some people. However, in spite of the not-so-
favorable weather conditions, the country still tops the rankings. Finland may not be the
biggest or the most powerful nation in the world, but it has plenty to offer that other
countries don't.

Finland has long been praised by a multitude of international bodies for its extensive welfare
benefits, low levels of corruption, well-functioning democracy, and its instilled sense of
freedom and autonomy. Its progressive taxation and wealth distribution has allowed for a
flourishing universal healthcare system, and, staggeringly, more than 80% of Finns trust
their police force, which is far more than many other countries can claim.

Finland has long been punching above its weight within the global economy, too, giving the
world global brands. The country is famous for being one of the first countries to push the
flat working model, which exemplifies the Finnish approach to how businesses should be
run, as well as how employees should be treated in the workplace. The flat working model is
one in which there are few - or sometimes even zero - hierarchal levels between management
and staff. Typically there is less supervision of employees and the structure aims to
promote increased involvement with organizational decision-making, enabling open
communication between all departments and teams within a business. As a result, this
often leads to a significant increase in workplace productivity, team-cohesion, and has
helped Finland pioneer agile working, whereby organizations empower its workforces to
work, where when and how they choose, offering maximum flexibility and low constraints,
something many European countries have only recently started to implement. Agile working
has been championed in Finland for well over decade, and this has played a significant role
in the wellbeing of Finnish citizens because overall happiness is inextricably linked with the
perceived joy one gets from their job, and whether they can find a healthy work-life balance.
Finland, like many other Nordic countries, excels in this area.

SubQuestion No : 16
Q.16 In what aspect, Finland is better than other Nordic countries?
Ans ¢ A Healthy work-life balance

X B. Global economy
X C.Wealth Distribution

< D. Sense of autonomy
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Q.17

Comprehension:

Read the following information carefully and answer the given questions.

Once again, Finland has ranked first in the UN's 2020 World Happiness Report, and, as
always, it will have come as a surprise to some people. However, in spite of the not-so-
favorable weather conditions, the country still tops the rankings. Finland may not be the
biggest or the most powerful nation in the world, but it has plenty to offer that other
countries don't.

Finland has long been praised by a multitude of international bodies for its extensive welfare
benefits, low levels of corruption, well-functioning democracy, and its instilled sense of
freedom and autonomy. Its progressive taxation and wealth distribution has allowed for a
flourishing universal healthcare system, and, staggeringly, more than 80% of Finns trust
their police force, which is far more than many other countries can claim.

Finland has long been punching above its weight within the global economy, too, giving the
world global brands. T he country is famous for being one of the first countries to push the
flat working model, which exemplifies the Finnish approach to how businesses should be
run, as well as how employees should be treated in the workplace. The flat working model is
one in which there are few - or sometimes even zero - hierarchal levels between management
and staff. Typically thereis less supervision of employees and the structure aims to
promote increased involvement with organizational decision-making, enabling open
communication between all departments and teams within a business. As a result, this
often leads to a significant increase in workplace productivity, team-cohesion, and has
helped Finland pioneer agile working, whereby organizations empower its workforces to
work, where when and how they choose, offering maximum flexibility and low constraints,
something many European countries have only recently started to implement. Agile working
has been championed in Finland for well over decade, and this has played a significant role
in the wellbeing of Finnish citizens because overall happiness is inextricably linked with the
perceived joy one gets from their job, and whether they can find a healthy work-life balance.
Finland, like many other Nordic countries, excels in this area.

SubQuestion No : 17
According to the given passage, all the statements are correct EXCEPT:
X A More than 80% of Finns trust their police force

X B. The weather conditions of Finland are not so favourable.

«” C. Progressive taxation has played a significantfole i the wellheing of Finnish
citizens

/X D.Finland is one of the first countries to push the flat working model.

Question ID

GET IT ON

Google Play

: 1034355138



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

Ans

Comprehension:

Read the following information carefully and answer the given questions.

Once again, Finland has ranked first in the UN's 2020 World Happiness Report, and, as
always, it will have come as a surprise to some people. However, in spite of the not-so-
favorable weather conditions, the country still tops the rankings. Finland may not be the
biggest or the most powerful nation in the world, but it has plenty to offer that other
countries don't.

Finland has long been praised by a multitude of international bodies for its extensive welfare
benefits, low levels of corruption, well-functioning democracy, and its instilled sense of
freedom and autonomy. Its progressive taxation and wealth distribution has allowed for a
flourishing universal healthcare system, and, staggeringly, more than 80% of Finns trust
their police force, which is far more than many other countries can claim.

Finland has long been punching above its weight within the global economy, too, giving the
world global brands. T he country is famous for being one of the first countries to push the
flat working model, which exemplifies the Finnish approach to how businesses should be
run, as well as how employees should be treated in the workplace. The flat working model is
one in which there are few - or sometimes even zero - hierarchal levels between management
and staff. Typically thereis less supervision of employees and the structure aims to
promote increased involvement with organizational decision-making, enabling open
communication between all departments and teams within a business. As a result, this
often leads to a significant increase in workplace productivity, team-cohesion, and has
helped Finland pioneer agile working, whereby organizations empower its workforces to
work, where when and how they choose, offering maximum flexibility and low constraints,
something many European countries have only recently started to implement. Agile working
has been championed in Finland for well over decade, and this has played a significant role
in the wellbeing of Finnish citizens because overall happiness is inextricably linked with the
perceived joy one gets from their job, and whether they can find a healthy work-life balance.
Finland, like many other Nordic countries, excels in this area.

SubQuestion No : 18

Q.18 What can be the suitable title for the given passage?

X A UN's 2020 World Happiness Report
«” B. What Mekes Finland The Happiest Country In The Werld?
< C. The Most Powerful Nation

X D. Achievement of Finland
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Q.19

Ans

Comprehension:

Read the following information carefully and answer the given questions.

Once again, Finland has ranked first in the UN's 2020 World Happiness Report, and, as
always, it will have come as a surprise to some people. However, in spite of the not-so-
favorable weather conditions, the country still tops the rankings. Finland may not be the
biggest or the most powerful nation in the world, but it has plenty to offer that other
countries don't.

Finland has long been praised by a multitude of international bodies for its extensive welfare
benefits, low levels of corruption, well-functioning democracy, and its instilled sense of
freedom and autonomy. Its progressive taxation and wealth distribution has allowed for a
flourishing universal healthcare system, and, staggeringly, more than 80% of Finns trust
their police force, which is far more than many other countries can claim.

Finland has long been punching above its weight within the global economy, too, giving the
world global brands. T he country is famous for being one of the first countries to push the
flat working model, which exemplifies the Finnish approach to how businesses should be
run, as well as how employees should be treated in the workplace. The flat working model is
one in which there are few - or sometimes even zero - hierarchal levels between management
and staff. Typically thereis less supervision of employees and the structure aims to
promote increased involvement with organizational decision-making, enabling open
communication between all departments and teams within a business. As a result, this
often leads to a significant increase in workplace productivity, team-cohesion, and has
helped Finland pioneer agile working, whereby organizations empower its workforces to
work, where when and how they choose, offering maximum flexibility and low constraints,
something many European countries have only recently started to implement. Agile working
has been championed in Finland for well over decade, and this has played a significant role
in the wellbeing of Finnish citizens because overall happiness is inextricably linked with the
perceived joy one gets from their job, and whether they can find a healthy work-life balance.
Finland, like many other Nordic countries, excels in this area.

SubQuestionNo : 19

Which of the following has not been mentioned as one of the reasons for
International bodies to praise Finland?

o A. Workplace productivity
X B. Well-functioning democracy
/X C. Low levels of corruption

/5 D. Welfare Benefits
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Comprehension:

Read the following information carefully and answer the given questions.

Once again, Finland has ranked first in the UN's 2020 World Happiness Report, and, as
always, it will have come as a surprise to some people. However, in spite of the not-so-
favorable weather conditions, the country still tops the rankings. Finland may not be the
biggest or the most powerful nation in the world, but it has plenty to offer that other
countries don't.

Finland has long been praised by a multitude of international bodies for its extensive welfare
benefits, low levels of corruption, well-functioning democracy, and its instilled sense of
freedom and autonomy. Its progressive taxation and wealth distribution has allowed for a
flourishing universal healthcare system, and, staggeringly, more than 80% of Finns trust
their police force, which is far more than many other countries can claim.

Finland has long been punching above its weight within the global economy, too, giving the
world global brands. T he country is famous for being one of the first countries to push the
flat working model, which exemplifies the Finnish approach to how businesses should be
run, as well as how employees should be treated in the workplace. The flat working model is
one in which there are few - or sometimes even zero - hierarchal levels between management
and staff. Typically thereis less supervision of employees and the structure aims to
promote increased involvement with organizational decision-making, enabling open
communication between all departments and teams within a business. As a result, this
often leads to a significant increase in workplace productivity, team-cohesion, and has
helped Finland pioneer agile working, whereby organizations empower its workforces to
work, where when and how they choose, offering maximum flexibility and low constraints,
something many European countries have only recently started to implement. Agile working
has been championed in Finland for well over decade, and this has played a significant role
in the wellbeing of Finnish citizens because overall happiness is inextricably linked with the
perceived joy one gets from their job, and whether they can find a healthy work-life balance.
Finland, like many other Nordic countries, excels in this area.

SubQuestion No : 20
Q.20 What is the antonym of the word-'promote’ as used in the passage?
Ans X A Advocate

o” B.Dissuade
/X C.Claim
X D.Uphold
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Comprehension:

e eIt T T g1 Terer & SR WR Ut uH Gy 7Y &1 el i enydes ue auT Ul U & aR
ferenedt & Wt fehea T

HIeh 991, g8 W gielt 8, frgent wridhtan<on fokar aman g f&ed) it oes aiforal @ Suaiferar &, fSea
Qe gttt ot A Gt amg ) ma g1 s @t atelt & g § e o raR-vaR gl g1 59 wWdl aielt
o SFaita i el aiferal wTfe w21 81 gt o | T H Ueheudn @ 3 SRRt W & oy
HIeh 99T Y Sagehd! Usdt §1 Fick i 3 ghar g-aRfAf8a, smesl a1 9w | a1 & v = &1 eragr
e, wemafie el grfoe-gigfas wu 3 3gd Iufea fafde s et gz awd 398 amrar
AR UeheT H fohgT SITdT &, TEt ST &l HIFch &0 gl | fohelt &l oY =i 4 3ifafores sttt o e
wugR AT gar & auT 3T &g Faffd ez oft 98 giar, S aror g8 sifteRe a1 amagRe
HTYT kT HIEGH gl G701 S Gehal1| g8y Gaft atedt e sitmifores, wrerifaes, namrafia, drepfas,
GrIfoTeR 3T ROT T UAT Ueh e (Ores &0 faeiRia @ ddt & e R, e, R, g
an1fe; 7 fof@a =9 # vl g o1 1 39 YR a8 Sieft Ueh AITeh WINT a4 il @1 AT wah i gfe
g dielt &Tuah gt o1t & iR Uan e, uRfARTdT ot v aw w1t &1 g6t U A seraedt &
g ST &, ST ug 5re w1 g @ aReifSta gt St g

TN &1 HIhIehT b Sgd o Hewa Ul 3R SHeTasdeh Hiehdl | JaTex0l o fory, afsffa s & &R |
ATl &t S AT @ YeRRT ST & StE-dtt, @ier], dredt snfe, afdha ag srasae 8 6 @ =l maa
F 'ardt et @iert a1 dhft agr STe o Tft et TmET 917 Sg | 3Ufery 39 e & It U me g 9T
ol wiigd foram S1TQ ot ORT et e 3eh T ol TAET ST | 39 UEhR TUE & foh HTHT T AhiguT
ueh sifard gfehan gidt 81 e amest a1 wme st srga ey & s, @ ok iR gt 81

SubQuestionNo : 16
Q.16 Iuyh mexier & fifas ghm-
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Comprehension:

Qe eIt & e &1 erier & TR UR uie u Ry Mg &) werier o eryden e 991 Uk UM & IR
faeredt § & wdt fRered 971

A 99T, Ig WTT Bt &, foreeT Ardhranor fovar man g1 Bl &t s Siferat @ queifemt &, o=
Tt et Y 7S Bt 77 feam) mar g1 3w @St el § B6l 7 f21e1 o TeR-UeR gidT &1 39 et aielt
& sl o ebsffa aforat mnfae A &1 syl 2ar F v # vasyar 9 39 sanfia wad & fag
e 991 T ATaTehd] Ut gl T-ch &t i glar g-uRfAfea, smest a1 918 | 91 & forg ®u &1 ardgR
e, wRmafen s, Qo AR ian w0 9 3uw 3uferd fafdy fawmara @t gx svas sur T
AT Uehey H fohT SITT &, It {1 &1 Hi-eh €9 gidr g1 fvdt ety Y @it ar sitafers atedt o aee-
qugR HifAa ghar § aur 3gent s Fafid arazor ff 781 gt fSraes aror 38 sifdeRes a1 agmagie
TS ST AT ] ST 571 Tehd| 36ferg Ut ateft fafre siimifoes, verfifas, narafis, i,
grIfoies 3fe wRoT & a1 Ueh (Ol w0 faefEa o adt &, Siifes v, e, @R, ueme=
a11fe & ff@a =0 H vl g a1 &1 59 YR a8 Fiell Ueh AIFdh 9197 & it 1 e s i gfe @
g dtelt aTTeh g1 91Tt § 3R Uan anesf, aRfAfRaar &t v aw ot &1 ! Uan A saraett T ST
g ST &, S ag AT T S @ uReTfetd g o &

HTYT BT HHIRRUT Qeh T & Hgvayuf ok sicgrasads ufghan 81 3arexur & farg, elsftg v & s w
T T SR AT GeRRT ST &, Se-ghott, @ier, et ot Tfdha a8 sTasae el iR @R B mear
#'ardt @t w@ierft ar it argr wTg ok Teft Rt TET 3 Y| 3R 39 21eg & It U W w9 aTdY
ol weftepa fohan ame &t g fe=dt wreer g5eh Wi ot T SITQIT | 39 U e @ foh e o A ehiaRuT
ua ifard ufehar gidft €1 uan smel at are 3= oy § Sfiaw, @ ok ofaee gt 81
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Comprehension:

e Tt T T g1 Terer & SR WR Ut U U 7Y &1 el a enydes Ue 9T U U & aR
ferenedt # & Wt fehed T

HiFeh 99T, Gg N1 gt &, fSrgent Aridhiancon fonam 1ran g1 R dht smes @iferal & Sueifora’ & S
I Gt Bt A gl A ) war 81 g3 @ avelt @ R A e o yaR-aR glar 81 59 @ et
& SFaria i el aiferal T w21 1 gt Gar | T H Ueheudn g 3 SNt wE & oy

AT 9T Y ATIeaehar usdt ¢l AE i 3 giar g-uRfAfea, smeef a1 8w | amr & o w9 &1 aaagr
e, wamafie eraf, arfoe-gitegfae wu @ 399 Iufe fafde s et gz awd 398 gy
AR UeheT H fohgT SITdT &, TEt ST &l HIFeh &0 gl | fohedt &l ot wuria 4 3ifafores stell o -
wugR AT ghar & T 3ue &g Faffd ez off 98 gian, S aror 58 siftwRe a1 amagRe
HTYT kT HIEAH gl G701 S Gebel1| gaferg Qeft atedt e sitmifores, wroriifaes, namrafia, diegfas,
GrIfoTeR 3T ROT T UAT Ueh e (Ores &0 faeiRia e ddt & e usrmaR, e, R, g
anfe # fofd &9 # 7ol g7 ot 81 39 UeRR GE Fiell Qe AlTeh W & STt 81 T wah i gfe g
g diclt &Taah gt STt & R Uan e, uRfARTdT it v aw &t &1 9! U A Usgract & 5
g S &, i ug aree w1 g @ aReifsta gt St gl

TN T AIhIehUT b Sgd o Hewa Ul SR SHeTasddh Hiehdl | JaTex0l ah fory, &fsffa e & &R IR
ATl &t S AT @ YRRT ST & Sttt @ier], dredt snfe, afdha ag srasae 8 f @ Bl maa
¥ greft Bt @lert a1 groft v Y Sk Gaft ot HET 3 WY | 3G 39 22 & Af U A w0 Are
ol wiied foram S1TQ a1 ORT et e 3k T ol TET STTQ | 39 UEhR TUE & foh 9T &7 AThieuT
ueh sifard gfohan gidt 81 e amesl a1 mme st sia ey & s, @ ok iR g 81

SubQuestionNo : 18
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Comprehension:

Qe i & e &1 erier & $TuR WR utE u Ry 70 & erier st eryden e 91 U UM & 9R
faemedt & @ Tl fRered 971

A 99T, Ig W it &, foraeT Ardhranor fovar man g1 8=l &t s siferat @ queifemt g, o
Tt ettt 7 Bt 77 ) mar §1 3 @ st el § @6l 7 281 o reR-UeR gidT &1 39 et aielt
& offa o etfla aiforal g =€ &1 syl Sar # s & yesudr g 39 srenfid wad & g
e 991 I GG ehd] Ut gl T-ch &t i gar g-uRfAfaa, smesf a1 98 | 9 & forg ¥ &1 2dgR
11T, mRITIeR e, TS Aiepide w0 € 36 Sufeld fafdey femarat @t gx e g9 anaar
AR Uhe H fhgT SITT &, I8! {1 &1 Hieh €9 gidr ¢ fovedt ety Y wurfta an sifaferes atedt o aee-
qugR HifAa ghar g quT 3gen ais Fafid arazor off 781 g, fSrges aror 38 sifdeRes a1 amagie
oS ST AT ] ST 571 Tehd| 3aferg Ut ateft fafre siimifaes, weeiifas, namafis, i,
grIfoies 3fe wRoT & a1 ek araeitis w0 fadfRa ax odt &, Siifes wmR, e, @R, g
a11fe; & ff@a =0 # vl g o1 &1 59 YR a8 Fiell Ueh AIdh 9197 & it 1 e wah i gfe @
g dtelt aTTeh g1 91Tt § 3R Uan e, aRfAfRaar &t v o ot &1 ! Uan A saraett e o
2 Sirar 8, fore ag wen T g @ aRmofd g st &1

HTYT T HHIRRT Qeh T & Hgvayuf ok siegrasads ufghan 81 3emexur & farg, elsflg v & s w
T T SR AT GERRT ST & Se-ghtt, @ier, 9redt ot Jifdha a8 sTasae 8l iR @R R e
7't @t w@ierft aT it agr WY 3 Teft Rt TET 9 g | 3oy 39 21ea & It Uah W w9 9TdY
ol wefiepa fohar Sme &t g fe=dt waer g5ch v ot T SITQI | 39 YR e @ foh W o HreehiaRuT
ua sifard ufehar gidft §1 uan smel at are s 3= oy § Sfigw, @ ok ofaele gt 81
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Comprehension:

e TS T T g1 Terer & SR WR Ut uH U g g1 ey i enydes Ue 9T U U & 9R
ferenedt & & wét faehea T

HI-eh AT, a8 AT gl &, fSrerert arehiaor e man g R & sRa aifcrat @ Suaifert & ad
et gttt ot A gt A ) man g1 e @t atelt & B4 § e o vaRuaR g g1 59 wWd aieht
& il o= et atferal wifae T8 81 arguf der 7 srwT § yoheydr @ 39 SN v & forg
HIeh 99T Y Sagehd! Tsdt §1 Frck i 3 ghar g-aRfAf8a, smeel a1 9w | a1 & v = &1 aragr
e, wemafe ef, grmfoe-giegfas wu 9 399 3ufed fafde s et gz ad 398 gy
AR Uehey H ST SITdT &, TEt ST &l HIFeh &0 gl | fohelt &l ot ®yria 4 sifafords sitell ol e
wugR ARG ghar & T Iga &g Faffa ez of 98 gian, S aror 58 sfteRe a1 amagRe
HTYT k1 HIEGH gl G701 ST Gebel1| gaeg Gaft atedt R sitmifores, wreriifaes, namafie, diepfas,
GrIfSTeR 3T HROT T SUAT Ueh e (Ores 0 fahfRia @ addt & e v, e, emr, g
onfe; 7 fofa =9 # vl g 1T 81 39 YR a8 Siefl Teh AITeh WINT & 1Tl @1 e wah i gfe
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Question ID : 1034355160

Q.1 Kohlberg outlined how many stages in the development of gender identity?
Ans X A Five

X B.Two

 C. Three

X D. Four

Question ID : 1034355175

Q.2 Name the disorder that involves a profound failure in social, linguistic and
imaginative development.

Ans ¢ A Autisn
/X B. Anxiety disorder
X C.Psychosis
X D.Bipolar disorder

Question ID : 1034355176
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Q.3 According to Gardner, which of the following intelligences is correct?
I. Linguistic is the ability to use and understand words and nuances of meaning.
I1. Bodily Kinesthetic is the ability to move with precision.
I1l. Spatialis the ability to distinguish species.

Ans X Al llandll

X B.landlll
¥ C.land Il
2 D.lland Il

Question ID : 1034355174

Q.4 Inthecontext of patterns of love, which of the following type is correct?
I. Liking - passion and commitment are present.
Il. Empty love - Commitment is the only component present.

Ans X A Neither | nor Il
& B.Onlyll
/X C.Only|
X D.Bothiandll

Question ID : 1034355179

Q.5 Whydo some childrens have more illness or injuries than others?
I. Parental smoking is an important preventable cause of childhood illness and
death.
I1. In high socio economic status family's child’s is at high risks of illness and injury.

Ans X A Neither | nor Il
X B.Bothlandll
X C.Only Il

v g D. Only

Question ID : 1034355171

Q.6 Inthecontext of Piaget's stages of moral development, which of the following pairs
is correctly matched?
|. Premoral - 0 to 5 years
Il. Moral realism - 5 to 10 years

Ans X A Onlyl
/X B.Only
o C.Bothland ||
25 D. Neither I nor ||

Question ID : 1034355177
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Q.7 Inthecontext of smiling and social recognition, which of the following statement is

correct?
I. By six weeks, babies smile to voices, particularly their mother’s familiar voice.
Il. The ethologist, Ahrens approach suggests that smiling in babies is triggered by

the eyes as “releasing stimule”.
I1l. Congenitally blind babies will smile at the sound of their mother's voice or when

touched.
Ans @ Al llandll
X B.lland Il
X C.landlll
X Dlandll

Question ID : 1034355168

Q.8 InYarrow, Rubenstein and Pedersen study, what is the behavioral differences in

parents with their baby boy and baby girl?
I. Girls received more varied and more intense stimulation.
Il. Boys experienced greater consistency and stability in interactions with

caregivers.
Ans ¢ A Neither inor i
X B.Bothland Il
/X C.Only |l
X D.Only!l

Question ID : 1034355169

Q.9 Inthe context of development of attachment, which of the following statement is

correct?
|. Bowlby elaborated his theory of attachment as an alternative to Freudian view.

Il. Attachment in babies is measured in the strange situation test devised by Mary

Ainsworth.
I1I. In Ainsworth study, he observed only 20 percent infants were classified as

secure.
Ans 7 A land |l
X B.lllandll
X C.lland Il

X D.landlll

Question ID : 1034355167

______ used to assess the basic physical condition of the newborn child immediately
after hirth.

Ans X A.Nominal scale
X B.Ordinal scale

9

v C. Apga

cale

X D.Brazelton scale

Question ID : 1034355163
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Q.11 Inthe context of developmental psychology, which of the following pair is correctly
matched?
I. Longitudinal studies - Its research designs trace changes in the same people over
a specific period of time.
Il. Cross-sectional studies - Its research designs study people of different ages at
a single point in time.

Ans X A Neither Inor |l
< B.Only Il
o C.Both land
X D.Onlyl

Question ID : 1034355165

Q.12 Inthe context of the embryonic stage, which of the following statement is correct?
I. It is the last stage in prenatal development.
I1. The embryonic period is the danger period for German measles (rubella).

Ans X A. Neither Inor |l
X B.Bothland !l
" 4 niy Il
X D.Only|

Question ID : 1034355166

Q.13 According to Piaget, which of the following type of reasoningis correct?
I. Inductive reasoning - Children use in the stage of concrete operations.
Il. Deductive reasoning - Does not develop until adolescence.

Ans X A Onlyl
o B.Both |and Il
X C. Neither I nor |l

X D.Onlyl

Question ID : 1034355173

Q.14 Inthe context of marriage, which of the following statement is correct?
|. Polygamy - marriage to one mate is the norm is most developed societies.
Il. Monogamy - a man’s marriage to more than one woman at a time.
I1l. Polyandry - Awoman's marriage to more than one man at a time.

Ans X A Onlyl
X B.lland Il
X C.land |l
 0.0nly il

Question ID : 1034355180
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Q.15 Inthe context of children moral development, which of the following pairs is

correctly matched?
I. Moral actions - Which are deliberate and result in negative consequence for other

people.

Il. Socio-Conventional Issues - Relate to uniformity on regulation of social
conduct.
Ans ¢ A.Bothlandll

2< B. Neither [ nor Il
2 C.Qnly|
X D Onlyli

Question ID : 1034355178

Q.16 In which syndrome, a pattern of physical and mental abnormalities found in babies
because the mother was heavy drinker during pregnancy?

Ans X A. Aagenaes syndrome
/X B. Duplication syndrome

«” C.Fetal alcohol syndrome
2% D. Chiasmal syndrome

Question ID : 1034355164

Q.17 What is the benefit of a dual - earner lifestyle?
I. Asecond income source raises the economic level of the family.

Il. It makes women more independent.
Il It reduces the pressure on men to be providers.

Ans X A landll

X B.lland Ill
o land Il
X D.landll

Question ID : 1034355181

Q.18 Which of the following pair of motor-skills in early childhood is correct?
I. 3years old - Can jump a distance of 15to 24 inches.
Il. 4 years old - Can jump a distance of 24 to 33 inches.

Ans ¢ A Bothlandll
/< B.Only
X C. Neither I nor |l

X D.Only |

Question ID : 1034355170



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

Q.19 Inthe context of cognitive advances during early childhood, which of the following
advance is correctly matched with their significance?
I. Understanding of cause and effect - Children realize that events have causes.
Il. Empathy - Children can count and deal with quantities.

Ans X A Neither Inor Il
X B.Onlyli
X C.Bothland |l

« D. Only

Question ID : 1034355172

Q.20 Piaget classified early childhood (2-7 years) periodas ______ .
Ans X A concrete operational

" B. Pre operational
X C.sensorimotor

X D. formal operational

Question ID : 1034355162

Q.1 Who led the struggle against apartheid in South Africa along with the African
National Congress?

Ans X A John Mills
X B. Kwame Nkrumah

X C.Gamal Nasser

Y 4 D. Nelson Mandela

Question ID: 1034355183

Q.2 Which of the following doesn't creates indiscipline in the class?

Ans ¢ A Students taking partin sporis activities
/X B. Students talking among themselves during a lecture
X C. Students coming late to class

/< D. Students making provocative gestures

Question ID : 1034355199

Q.3 Which of the following aspects of a student are required to be understood in order
to adopt the learner-centered approach?
I. Home and cultural background
I. Health and physical developments
I1l. Mental abilities

Ans Al llandll
/< B.Only!|
X C.lland Il
X D.landll

Question ID : 1034355197
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Q.4 When was the right of children to free and compulsory education act made in India?
Ans X A 26 August2010

/X B.26 August 2012
X C.26 August 2011

V D. 26 Auqust 2009

Question ID : 1034355184

Q.5 Which of the following physiologist did pioneering work on classical conditioning?
Ans X A Withelmwundt

o’ B. lvan Pavlov

X C. Albert Bandura

X D.B. F Skinner

Question ID : 1034355201

Q.6 One does not imitate everybody one comes across. Which of the following can
become a model for imitation for a child?
I. Great men from history and mythology.
Il. Characters from popular comics.

Ans X A Only |l
« B.Both land Il
X C. Neither I nor |l

X D.Only |

Question ID : 1034355196

Q.7 Jean-Jacques Rousseau distinguished four ‘stages of man’in the draft of the book
‘Emile’. Which of the following is correctly matched?
|. The age of nature - 0to 12 years
Il. The age of force - 15to 20 years
I1l. The age of wisdom - 20 to 25 years

Ans X A llandlll

& B. | lland i
X C.landll
X D.Only!

Question ID : 1034355195

Q.8 Which of the following statements are NOT correct regarding the Revolt of 18577
I. It was known as the second war of independence.
Il. It started on May 13,1857.
I1l. The revolt started in Meerut.

Ans X A llandll
X B.landll
X C.landlll

o D. Only

Question ID : 1034355186
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Q.9 Which of the following pairs of “event - year” regarding India is correct?
I. First war of independence - 1856
Il. Swadeshi movement - 1905
I1l. First session of Indian National Congress - 1885

Ans ¢ Alland |
X B.landlll
X Clandll

2< D.Only |

Question ID : 1034355188

Q.10 The Project Integrated Education for Disabled Children (PIED) was launched by which
organization?

Ans X A UGC and NCERT
X B.CBSE and UNICEF
2< C.UNICEF and UGL

&” D.NCERT and UNICEF

Question ID : 1034355194

Q.11 Women in many parts of a country are generally expected to wear sarees and grow
long hairs. This statement represents that gender differences are
I. Culturally influenced
Il. Socially constructed

Ans X A Onlyll

X B. Neither I nor |l
o C.Bothland Il
X D Only|

Question ID : 1034355189

Q.12 Which of the following statements is correct regarding Civil Rights Act of 1964 of
America?
I. It prohibited discrimination on the basis of race.
Il. It stated that schools would be open for African-American students.
11l. Africans Americans will be compensated for their suffering.

Ans X A llandlll
/X B.Onlyl
X C.landlll

Question ID : 1034355187

______ are the sources of gender discrimination.
I. Education, Textbook, Curriculum and Teachers
Il. Laws and rules

Ans X A Onlyll
X B.Only|
X C. Neither [ nor Il

o D. Both land Il

Question ID : 1034355190
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Q.14 In which year did American women got the right to vote?
Ans X A 1930

¥ B.1920

X C.1910

X D. 1940

Question ID : 1034355185

Q.15 In which international conference the goals for ‘Education for all’ were set?
Ans « A. Jometin World Conference, 1990

& B. 48th World Science Fiction Convention, 1990

X C.London Summit, 1990

X D. Helsinki Summit, 1990

Question ID : 1034355192

Q.16 Inthe context of Costa and McCrae's five factor model, which of the following
factor is NOT correctly matched with their traits?
I. Neuroticism - anxiety and depression.
Il. Conscientious - orderly and dutiful.

Ans o A Neither Inor |l
/< B.Only
X C.Bothland Il

X D.Only |

Question ID : 1034355182

Q.17 All the given factors cause multi-grade situation in the schools except ______ ;
Ans X A Running of special intervention programmes in school

X B.Delay in teacher appointment
X C. Shortage of required number of classrooms in schools.

o D. Lack of proper communication system in urban schools

Question ID : 1034355200

Q.18 Which of the following pairs of types of TCM - Material is Correct?
I. Projected aid - Magic Lantern
Il. Experimental aid - Photographs
I1l. Non-projected aid - Field trip

Ans X Al llandIll

X B.landll
X C.lland Il
v D Only

Question ID: 1034355198
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Q.19 In context to education, what is Inclusion?
|. Educational approach
Il. Philosophy

Ans X A Only|
X B.Onlyll
o C.Both land |l
X D. Neither I nor Il

Question ID : 1034355191

Q.20 Which commission highlighted the importance of educating children with disabilities
during the post-independence period?

Ans & A Kothari Commission, 1966
< B. Secondary Education Commission, 1953
X C. University Education Commission, 1949

/X D. National Knowledge Commission, 2009

Question ID : 1034355193

Q.1 Which part of the constitution contains the provisions of language?
Ans X A 15

X B.16
XcC4a
v

Question ID : 1034355213

Q.2 Sumanis teaching the students of class Il and she is teaching on the theme ‘Foods
from plants and animals’. What questions should she ask from students?
|. What food do we take from animals?
1. What parts of the plant do you eat?

Ans X A Onlyl
X B. Neither [ nor Il
 C.Both land II
X D.Only

Question ID : 1034355218

Q.3 Which of the following language belongs to the Dravidian family?
I. Kannada
Il. Malayalam

Ans X A Onlyl
X B.Only |

« C.Both land I
X D. Neither Inor |

Question ID : 1034355211
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Q.4 Which article of the Indian Constitution states that the union must promote the
spread of Hindi and develop Hindi as the medium of expression?

Ans X A Article352
X B. Article 350

o C. Article 35
X D. Article 353

Question ID : 1034355214

Q.5 There are many ways of connecting mathematical knowledge with the life outside
the school. The given statement represents which of the following way?
Ramesh scored two fours, two sixes and a single run in a cricket match. He can
calculate his total score by using multiplication.

Ans X A Making designs
« B. Playground
X C. Festival
X D. Market

Question ID : 1034355215

Q.6 Which of the following pair is correctly matched in the context of information and
communication infrastructure?
I. Physical telecommunication system - Cable, Satellite
Il. Services that utilize Physical telecommunication system - Postal, broadcast

Ans X A Neither Inorll
/< B.Only
o C.Only
X D Bothlandll

Question ID : 1034355203

Q.7 Which of the following are those activities that most living organisms do to survive?
I. They breathe air
Il. They drink water
I1l. They get rid of waste
IV. They eat food

Ans A LIl llland IV
X Bl lland lll
X C.ll llland IV
X D. I, lland IV

Question ID : 1034355219
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Q.8 Inthecontext of word and phrases, which of the following statement is correct?
I. Children acquire words and phrases when they listen.
Il. They are unconsciously learning about word order as they become familiar with
phrases.

Ans X A Neither Inor Il
v B.Both land Il
X C.Only Il
2< D.Only |

Question ID : 1034355210

Q.9 Vygotsksystates that a child progresses through three stages in developing
language functions. Which of the following are those stages?
I. Social speech
Il. Egocentric speech
I1l. Outer speech

Ans X A Onlylll
 B.landll
X C.Onlyll

X DI lland il

Question ID : 1034355206

Q.10 In EVS curriculum, the fuels are covered under the major theme ‘Travel'. What
aspects regarding fuels can be taught in integrated manner?
I.Role of fossil fuels in electricity generation.
Il. Purposes of use of petroland diesel.
I1l. Means of travel.

Ans X A | ilandll
o B.lland |
X C.land Il
X D.land |l

Question ID : 1034355220

Q.11 In school garden, a teacher was giving a lesson upon ‘seeds’. What should be the
assessment targets of teacher?
|. Students will plant carrot seeds.
Il. Students will use senses to compare the colour, shape and texture of a variety of
seeds.
I1l. Students will create a collage using seeds.

Ans X A land Il
o B | lland |
X C.onlyll
X D.Oonly|

Question ID : 1034355205
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Q.12 Infirst language, at which stages of languages acquisition children's mistakes are
caused by both over and under generalization?

Ans v A. One-word stage
/X B.Babbling
X C. Two-word stage

X D. Longer utterances

Q.13 Which of the following is an example of interaction between biotic and abiotic
components in the environment?
|. Plants use sunlight, soil, air and water to grow.
Il. Animals use leaves, branches, tree or soil for shelter and other living organisms

for food.
I1l. Fishes use gills to get oxygen they need from water.

Ans X A landll

X B.land Il
v 4 C.l, lland |
25 D.Onlyll

Q.14 Hindiis written in which script?
Ans \_)? A Devanagatr

X B. Kharosthi
X C. Kanji
X D.Brahmi

Q.15 Which of the following statement defines Arithmetic Logical Unit (ALU) of a
computer?
|. Determines the sequence in which computer programs and instructions are
executed.
1. Brain of computer system.
11l. Processing of data and instructions.

Ans X A | llandll

X B.landll
X C.lland Il
o D.Only |l
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Q.16 With context to first language, which of the following are the stages of language
acquisition?
|. Babbling
Il. One-word stage
Il. Longer utterances

Ans X A lland Il
o B. | llandl
X C.Qnly Il
2 D.Onlyll

Q.17 In human beings, which of the following body parts are adopted for speech?
I. Lips
II. Lungs
Il. Nose

Ans Al lland Il
X B.Onlylll
X C.landll

X D.Onlyli

______ is the process of entering data and programs into the computer system.
Ans X A Storage
X B. Qutput

X C.Programme

« 0. Input

Q.19 Which of the following are the problems in teaching and learning of mathematics?
I. Crude assessment
Il. Inadequate learning materials
I1l. Disappointing curriculum

Ans X A QOnly|

/5 B.Only |l
X C.lland lli
o Ol lland|

Q.20 How mathematics learning cannot be joyful?

Ans X A.Usediverse materials like flash cards, stones, sticks, objects and picture
X B.Organize mathematical quiz, debate, seminar etc
X C. Collection of photographs of great mathematicians

o’ D. Do impose adult's views on the students as it doesn't restrict the child’s creative

expression
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Q.1 The curriculum of EVS has been built around ten major competencies and these
competencies should be achieved by all children at primary stage. Which of the
following is NOT one of those competencies?

Ans X A. Observing and examining some common characteristics of non-living things

v 4 B. Sensin g commoen but simple and easily observable socio-economic situations and

problems, analysing them and seeking their those solutions which are not possible

/X C.Development of awareness about his/her well-being in the context of social and
natural environment

X D.Understanding and interpreting the relationship between man and his environment

Question ID : 1034355222

Q.2 Which of the following is a non-communicable disease?
Ans X A Mumps

+ B. Blood pressure
X C.Measles
2< D. Chicken pox

Question ID : 1034355237

Q.3 The age at which a person ceases to be a child differs under different laws in India.
Which of the following is correctly matched?
I. The protection of women from Domestic Violence Act, 2005 - Defines a child
below 18 years of age.
I1. The Child Labour Act, 1986 - A person is a child below 10 years of age.

Ans X A Bothlandll
X B. Neither | nor Il
o C.Only
X D.Onlyll

Question ID : 1034355235

Q.4 Whichtermis used to refer to anyone who is not yet considered an adult in the eyes
of the law?

Ans X A Youth
X B. Toddler
& C. Juvenile
X D. Teenager

Question ID : 1034355232

Q.5 Inwhich art form the artist uses their body, presence and face expressions?

Ans ¢ A Performing art
X B.Digital ant
X C. 3D printing

ZX D. Non-performing art

Question ID : 1034355225
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Q6 ______ is the basic posture of a human body.
|. Standing
I1. Sitting
11, Lying

Ans ¢ Al lland]|
X B.landlll
X C.lland Il

2< D.Only ll

Question ID : 1034355238

Q.7 Which of the following statements regarding adolescents’ cognitive development is
correct?
I. The adolescents consider many possible ways of solving a problem.
Il. Adolescents develop an egocentrism that consists of an imaginary audience and
a personalfable.

Ans X A.Onlyll
o’ B.Both land Il
X C. Neither I nor |l

X D.Only|

Question ID : 1034355234

Q.8 Some of the health-related programmes are covered by way of providing the certain
health services. Which of the following is NOT one of them?
I. Free medication
1. Eye checkup
I1l. Nutrition counseling

Ans X A Onlyl

" B. Neither I nor Il no
X C.lland !l
X D. I, lland Il

Question ID : 1034355241

Q.9 The first country to have taken up the task of introducing population education
into the schoolsystem is

Ans o A India
X B Russia
X C. Australia
X D.Canada

Question ID : 1034355233
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Q.10 Which of the following statement is correct regarding Hockey?
|. The game is played for 60 minutes with 4 quarters of 15 minutes each.
Il. In each team, there are 12 players.

Ans X A Bothlandll
X B. Neither I nor Il
o C.Onlyl
< D.Only Il

Question ID : 1034355229

Q.11 What is the aim of learning social sciences at elementary school level?
I. To acquaint student with their geographical social and cultural environments.
Il. To help student to be unsocial in the society.

Ans X A Bothlandll
o B. Only
< C. Neither I nor Il

< D.Onlyll

Question ID : 1034355224

Q.12 Who called adolescence a period of identity crises?
Ans X A.Jean Piaget

o’ B. Eric Erikson
X C. Allison Davis

< D. Robert Selman

Question ID : 1034355236

Q.13 Which of the following compositions deal with social science principles?
I.'Arthashastra’ of Kautilya
1. 'Panchatantra’ of Vishnu Sharma

Ans X A Onlyl
< B. Neither I nor Il
/< C.Only i
o D.Bothlandll

Question ID : 1034355223

Q.14 The physiological changes that occur during adolescence are triggered and
controlled by the
I. Hypothalamus
II. Endocrine glands

Ans X A Onlyll

2 B.Onlyl
25 C. Neither | nor Il
o D.Both | and (|

Question ID : 1034355231
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Q.15 Which curriculum can provide means to bridge the context of different subjects in
logical, child-centered and meaningful ways?

Ans X A Sciencedintegrated
& B. Artintegrated
/X C. Sports-integrated

X D.Visualintegrated

Question ID : 1034355226

Q.16 Which of the following pair is NOT correctly matched?
Ans o A Discipline - Unhealthy habit

X B. Carelessness - Unhealthy habit

X C. Negative thinking - Unhealthy habit

< D. Hygienic attitude - Healthy habit

Question ID : 1034355239

Q.17 Which of the following are the guidelines for the practice of meditation?
|. Select a peaceful, calm and quiet place for the practice of meditation.
I1. Allow your eyes to get closed gently so as to enter into an inner awareness of
self.

Ans ¢ A Bethland |l
X B.Onlyl

X C. Neither I nor |l

< D.Only |l

Question ID : 1034355228

Q.18 ‘Amodel school health programme includes various components in the curriculum
to inculcate healthful living and good citizenship to children.’ Which of the following
are those components?

I. Physical Education

1. Nutrition Service

I1l. Family and community involvement in schools
IV. Safe physical environment

Ans X A lland IV

B Iland IV
X C.I, llland IV
X D liland IV

Question ID : 1034355240



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2y7 Eonle Play

Q.19 What are the principles underlying organisation of physical education activities?
|. Students should not be divided into various groups.
Il. Aplan for sports activities should be drawn.
I1l. Games and sports have to be organised keeping in view the needs of boys and
girls.

Ans X A . Onlyl
/5 B.Only
 C.lland |
X DI lland Il

Question ID : 1034355230

Q.20 Which of the following statement is correct, in the context of folk arts?
I. It is the newest art form originated in 21st century and common in every country.
Il. Wall painting, rangoli making, kolam making are the activities of folk arts.

Ans X A. Neither | nor Il
< B.QOnly|
> 4 C.Only Il
/< D.Bothiandll

Question ID : 1034355227

Q.1 Which of the following is the characteristics of leadership?
I. Engage people fullyin a great projects.
I1. Define purpose, goals and outcomes.

Ans X A Neither Inor |l
«” B.Only
X C.Bothland Il

X D.Onlyll

Question ID : 1034355256

Q.2 Which Abhiyan was implemented as India’s flagship Programme for universalising
elementary education?

Ans X A.Swachta Abhiyan

o B. Sarva Shiksha Abhiyan
X C.Pradhan Mantri Annadata Aay Sanrakshan Abhiyan

/X D. Pradhan Mantri Surakshit Matritva Abhiyan

Question ID : 1034355254
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Q.3 Which of the following statement is correct?
I. The purpose of education is to cultivate right relationship not between individuals
but between individual and society.
Il. The right kind of education will encourage thoughtfulness and consideration for
others without enticements or threats of anykind.

Ans X A. Neither I norll
& B.Onlyll
X C.Bothlandll

/< D.Onlyl

Question ID : 1034355249

Q.4 Which of the following process refers to sharing of ideas, facts, opinion,
information and understanding?

Ans ¢ A.Communicatior
X B. Positicn
/5 C. Ambition

X D. Situation

Question ID : 1034355259

Q.5 Which of the following community participation under SSA pair is correctly
matched?
I. Mother Sammelan - Himachal Pradesh
Il. Haat Bazaar - Kerala
I1l. Pravesh Utsav Mela - Bihar
IV. Literacy Campaign - Gujarat

Ans X A ll llland IV

X B.l lland IV
X C.lland Ili
v D.land IV

Question ID : 1034355260

Q.6 Which of the following is the transformational functions of leadership?
I. The ability to demotivate
Il. The ability to strengthen their self-interest

Ans X A Bothlandl|
X B.Onlyl
X C.Onlyll
& L. Neither

Question ID : 1034355255

Q.7 First aidinthe form of ammonium carbonate or crushed onion to inhale should be
provide in which of the following situations?

Ans X A Minor cuts
X B.Burns

« C.Fainting
/X D Bleeding

Question ID : 1034355242
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Q.8 Which of the following statement is correct in the context of work education?
|. Assessment is related to the thoughts of a person, attitude, behaviour,
expectation and understanding.

Il. Evaluation is related to the changes in behavior, which can be recorded and
measured.

Ans X A Onlyl
< B.Bothland Il
X C.QOnly I

o 0. Neither [ nor

Question ID : 1034355247

Q.9 Inthe context of community, which of the following pair is NOT correct?

Ans X A PTA meeting: Composed in schools of rural and urban environment
o’ B. Home visit : In metropolitan cities, teacher visit student's village
< C. Mother's club: Mother takes part in the meeting

X D.PTM: Give continuous progress of students to their guardians

Question ID : 1034355246

Q10 ______ have no place in the right kind of education.
I. Conformity
Il. Obedience
Ans X A Onlyl
X B.Onlyll

X C. Neither I nor Il

& D.Both land Il

Question ID : 1034355248

Q.11 Who is the greatest teacher of a man in different conditions in life?
Ans X A Material things

B Productive work
X C.Future plans

X D.Llaziness

Question ID : 1034355243

Q.12 Whyis community mobilisation important?
|. For reaching the most vulnerable.
Il. For increasing the effectiveness and efficiency of interventions.

Ans ¢ A Bothland |l
X B. Neither I nor Il
X C.0Only!|
X D.Onlyll

Question ID : 1034355258
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Q.13

Ans

Q.14

Q.15

Q.16
Ans

247

Which of the following is the Salient features of the RTE Act 2009?

I. Makes the education of every child between the age of 1to 18 a fundamental
right.

Il. Private schools will have to give at least 25 percent admission to the poor
children in their school.

X A.Bothlandll
X B.Only|

& C.Onlyll

X D. Neither I nor |l

Question ID : 1034355252

Which of the following statement is correct?

I. Modern education in developing the intellect offers more and more theories and
facts without bringing about the understanding of the total process of human
existence.

Il. Ignorance is the lack of knowledge of the ways of the self and this ignorance
cannot be dissipated by superficial activities.

X A Neither I nor |l
& B.Both land i
X C.Onlyl
X D.Onlyll

Question ID : 1034355250

Which of the following statement is correct in the context of community
participation?

I. Community campaigns bring negative change in educational activities.
Il. Community campaigns brings the children to school.

A Onlyll
X B.Bothlandll
25 C. Neither | nor ||

/< D.Onlyl

Question ID : 1034355251

What is the role of community in reference to work education?
/% A Restricting the critical thinking

X B Creating spiritual environment

& C. Monitoring the educational proces

/< D. Demoralizing the scientific theories

Question ID : 1034355244
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Q.17 Which of the following statement is correct?
I. When the parents and communities are involved in the development of curriculum,
the same curriculum becomes easy and interesting.
Il. Communities and parents involvement help to formulate curriculum and learning
materials that reflect children’s everyday lives in society.

Ans X A Onlyl
& B.Both [and Il
X C.QOnly I
X D. Neither I nor |l

Question ID : 1034355261

Q.18 is a capacity building process through which community individuals groups or

organization participate for their development.
Ans X A Element materialization

o B. Community mobilizatior
/< C.Community divergence

X D.Individual modernization

Question ID : 1034355257

Q.19 Which of the following statement is correct in the context of community
participation in Rajasthan?
I. Community monitors regular attendance of children.
Il. In Bhuteda, two teachers were removed because of their irregularity.
I1l. Child marking register prepared by parents in each gram panchayat.

Ans X A lland Il

X B I lland Il
X C.land i
L

Question ID : 1034355253

Q.20 Inthe context of community, which of the following statement is correct?
Ans X A.Livesurvivor of an Island

/< B.Asingleresident lives in a barren land
vj’ C. Different people are nnected with the common cause

X D. Isolate person who lives in mountain

Question ID : 1034355245
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